WWW.AMERICANSHIFTER.COM

SImescan

SHIFTER COMPANY

User Guide & Installation Manual

TECH SUPPORT: 503.693.1918

Australia: +61 3 9001 8624 New Zealand: +64 99849446
South America: +55 21 3002-0495 Japan: +81 345801938
Mexico: +52 551 1638622 UK: +44 2070 9 98213

Neutral Safety / Back-Up Switch Kit

General Installation Notes:

ASCSWT2K

Please read instructions completely before beginning installation.Before starting installation, scotch vehicle tires to avoid accidental movement of the
vehicle. Do not attempt to install this product while the engine is running. Disconnect negative battery cable before beginning installation. Make sure the
engine, fransmission, body and frame are properly grounded.

NOTE: This kit offers the choice of Back-Up Light Switch OR Neutral Safety Switch, Not Both! Refer to Fig. 1 for the component names.

Switch Installation:

Step 1- Install the bracket with the switch:
® For TH350, TH400 and TH200 Applica
tions - Some of these transmissions use
standard bolts for the transmission oil pan,
while others use metric bolts. Both
standard 5/16”-18 x 1-1/4" and metric
M8 x 30MM bolts have been included in
this kit. Determine which pair matches the
thread pitch on the pan bolts you removed
from the transmission and discard the other
two new bolts.

Install the correct thread transmission pan
bolts from the kit, with the 3/8" thick
spacers between the bracket and the
transmission pan. Use the flat washers and
lock washers on the bottom side of the
brackets, as shown in Fig. 2.

e For 700-R4, 200-R4 (and 4160, 4L80E
with Short Selector Shaft) Applications -
Install the 1/4" spacers and two metric
bolts supplied in the kit. Use the flat
washers and lock washers on the bottom
side of the bracket, as shown in Fig. 2.

Switch Wiring:

The switch is a non-directional, normally
open, spiring loaded ball switch. It makes
contact and passes current when the ball is
depressed. For some common applications,
you will be cutting a single wire, and simply
connecting the cut ends to the switch
terminals.

For Use as a Neutral Safety Switch
Step 2 - Put the transmission in Park and
install the double trigger as shown in Fig. 2,
with the 3/8" internal star washer between
the trigger and your original nut. Position
the trigger so that the ball switch is
depressed in Park. The double trigger
should also depress the ball switch when
transmission is in the Neutral position.

Step 3 - Connect the switch between your
ignition switch and starter circuits. Check
the wiring of your fuse panel.

o [f there are (2) connections for a neutral
safety switch, you must run a #12 (or
heavier) stranded wire from these
terminals to the (2) terminals on the neutral
safety switch. That completes the neutral
safety switch wiring.

® If your wiring panel does not have
neutral safety switch connections, you will
have to locate the wire going from the
ignition switch to the starter. If GM color
codes are used, this wire will usually be
PURPLE. After locating the wire, it must be
cut and routed from the ignition switch to
one of the neutral safety switch terminals,
and from the second neutral safety switch
terminal fo the same stud on the starter
where the original wire was removed. If
the wire must be lengthened, be sure to
use wire that is at least the same size or
larger than the original.

Reconnect the negative battery cable and
check operation.

See next page for figures

For Use as a Back-Up Light Switch
Step 2 - Install the single trigger onfo the
transmission gear selector shaft, with the
3/8" internal star washer between the
trigger and your original nut. Put the
transmission in Reverse and make sure the
ball switch is depressed. See Fig. 2.

Step 3 - Check the wiring of your fuse
panel.

¢ [f there is a connection for back-up lights
on your fuse panel, you may run a 16
gauge (or heavier) wire from the fuse
panel terminal to either of the back-up
light switch terminals. Run a second wire
from the other backup light switch terminal
to your back-up lights. Be sure the back-up
lights have a good chassis ground.

o [f there is no connection for back-up
lights on your fuse panel, you may
connect a wire from the headlight switch
“taillight” terminal to either of the backup
light switch terminals, and then run a
second wire from the other backup light
switch terminal to your back-up lights. If
your car uses standard GM wiring, the
taillight wire will usually be BROWN.

Reconnect the negative battery cable and
check operation.

©2013 The Hoffman Group L.L.C. All rights reserved. ASCSWT2K 06/03/2013 Page 1 of 2

The above instructions are for reference only. THG LLC is not responsible for any inaccuracies in the above instructions. THG LLC is also not responsible for any property damage or personal injuries resulting from the above
instructions. Installation by qualified automotive professionals is highly recommended.




WWW.AMERICANSHIFTER.COM mmm TECH SUPPORT: 503.693.1918
Australia: +61 3 9001 8624 New Zealand: +64 99849446
S H I F T E R C O M p A N V South America: +55 21 3002-0495 Japan: +81 345801938

Mexico: +52 551 1638622 UK: +44 2070 9 98213

BRACKET 5/]6"'18X ]_]/4"

| BOLTS

M8 X 30
BOLTS

1 /4" 3/8"
SPACERS  SPACERS

)
\\.‘/

)

e

-

- P

LI.‘ ] \\\ & 5/ ]W 1 /4"
SWITCH L8, \ \ LOCK WASHERS FLAT WASHERS
&
DOUBLE TRIGGER o
(FOR NEUTRAL
SAFETY SWITCH) SINGLE TRIGGER
(FOR BACK-UP e ;
Fig. 1 LIGHTS) gro— 3/8" INTERNAL

\» . T STARWASHER

SINGLE TRIGGER
FOR BACK-UP
LIGHT SWITCH

— FRONT OF TRANS

DOUBLE TRIGGER FOR

O.

3/8" INTERNAL "~ .
STARWASHER

REAR OF TRANS

.

36" INTERNAL

= STAR WASHER
L L r—r) — ] \
L[ = 8
—
o SPACERS

ORIGINAL N \II
INOT INCLUDED)
TRANS PAN BRACKET T 7
n — 38" SPhCERSHD_‘ 174" SPACERS / FLAT l ]

Meron AREFOR = - METRIC = WASHER ORIGINAL NUT

ARE FOR T FLATWASHERS — % 700-Ra [HOT INCLUDED]

TH3s0, T~ 00- ¥ BOLTS ™

THago, BRACKET \ LOCK WASHERS / 160 Lock

TH200 5/16°X 1 1/4°BOLTS 200-48 WASHER

(4160, 4LBOE with Short Selector)

Fig. 2 Fig. 3

©2013 The Hoffman Group L.L.C. All rights reserved. ASCSWT2K 06/03/2013 Page 2 of 2

The above instructions are for reference only. THG LLC is not responsible for any inaccuracies in the above instructions. THG LLC is also not responsible for any property damage or personal injuries resulting from the above
instructions. Installation by qualified automotive professionals is highly recommended.




